Single line to ground fault

We will work these
out together in class
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Sequence-components per-phase drawings of phase A Thévenin equivalents:
Z |eft1 é“_\. a1 ZA rightl
'ﬁm#\/\’—‘”ﬁj ZTh1 1
Z' g1 /% ] T 'as
Vi, Z |oad1 /]\
O
E" A ! | EThaA |
Z |eft2 lao Zright2 ZTh2
I cai R
z M — A
g2 v Vi,
‘ A2 Z oad2 |
T
Zefto o Zrighto ZTho
|
Z - /m\—léﬁ—\/\/f ‘% A0
0 /b rzrm;\_‘ 4\
ZgO vV VA VAO
. [
+3Zgn A0 oad0 |

Transmission Line Faults p6



Double line to ground fault
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Sequence-components per-phase drawings of phase A

Thévenin equivalents:
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Line-to-Line fault ( ground not involved) Transmission Line Faults p9
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Sequence-components per-phase drawings of phase A
Thévenin equivalents:
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Open-Circuit Faults Z |eft | Z ight
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Now the voltages are measured across the fault point and the "fault” currents are the line currents.
Single line A Open
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Sequence-components per-phase drawings of phase A
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Double line B & C Open

Z \eft

Vo 11 1 I a0 11 1

Al = } = } 1 a a2 IAl = } = } 1 a a2
3 3 5 3 3 5

Va2 1a a Ino 1a a

Sequence-components per-phase drawings of phase A
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